
20897B 20897B
 20897 20897

05-10 TOYOTA 05-10 TOYOTA 

 TACOMA TACOMA 
HOOD SCOOP INSERT 

Tools Required:  Hardware / Parts List: 
Phillip Screw Driver 1 Billet Insert (4 bars) 
5/16” Wrench 2 6-32 X 1.5” Machine Screw 
Drill & 1/8” Drill Bit  (SHAVED HEAD SCREW) 

2 6-32 Nylon Lock Nuts 
2 #6 Flat Washers 

Read and understand instructions before attempting installation 

Step 1 
Center the billet into the hood scoop opening. Mark the mounting holes to the factory hood scoop. 
Remove the billet and drill a 1/8” hole at each mark. Insert the machine screws into the tabs on 
the billet. The head on the screws have been shaved down to fit in between the billet bars. 

Step 2  
Re-center the billet into the opening. Install the washers and nylon lock nuts from the back. 

http://www.carid.com/t-rex-grilles/
http://www.carid.com/custom-grilles.html



